X=-67,490

h

X=-67,500

X=-67,510

) o _
< 2 o
- £ 3
3 3 ;
® i ) 10 i 1 2 +
I v ;
e o I
% 84.80 84.85 84.90 84.90
Be o oo 0gd . B IT0Be g : :
oR ° < 84,90 %, o5 84.85)
- . \ a
{tf’ se o o —125%
84.85 o 90

84.80

84.75

84.85

VABEHE

84.95
85.00

V AShARREE
84.90

d

VABhEHE

84.85

84.80

85.05

]. -4

84.90 85.00

84.85

85.05

84.95

VAQIEE

+24,740

Y =

84.95 85.00

85.00 84.95

X

-67,490

10

+24,750

Y=

THSEERERX EREEX

5 10m

—
\
+24,760

Y =

85.00

85.05

X=-67,500
1
X=-67,510




